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1. The problem of scarcity arises because

A. Human wants are unlimited.

B. Resources are limited

C. Neither A nor B

D. Both A and B

2. Whenever we make choices, 

A. We perform a production activity.

B. We have to forgo something.

C. We immediately satisfy our wants.

D. We try not to incur any opportunity cost.

3. In economics, a good is anything that 

A. Can satisfy human wants.

B. Can be traded in the market.

C. Has been produced.

D. Has a physical form.

4. Scarcity implies

A. Some people will be rich and some will be poor.

B. We want more than we have.

C. People will always buy the cheapest goods.

D. The government will play an important role in resource allocation.

5. Basically, economics is the study of

A. How people can make as much money as possible.

B. How people use scarce resources to satisfy as many wants as possible.

C. How scarcity can be avoided.

D. All of the above.

6. Suppose Mary has $300. She has the following choices of how to spend her money.

1st choice: concert ticket of Eason

2nd choice: handbag

3rd choice: latest music albums of Twins

a) What is Mary’s opportunity cost of choosing to buy a concert ticket of Eason?

b) Why is Mary’s cost of buying the concert ticket not equal to all other options, i.e. the handbag and the music album?

c) Will Mary’s cost of buying the concert ticket change 

i. If the concert is boring?

ii. If the handbag is used by a pop star in a show?

7. Miss Lee is a lawyer and she is also good at typing. However, she employs a clerk to do the typing work. In terms of opportunity cost, explain why Miss Lee employs the clerk instead of doing the typing work herself.

Answer key to problem set 1

1. D

2. B

3. A

4. B

5. B

6. a) Mary’s opportunity cost of choosing to buy Eason’s concert ticket is the handbag, which is the highest valued option forgone.

  b) It is because if she does not buy the ticket, she could only buy either the handbag or the music album, but not both. The opportunity cost of buying the concert ticket should be the highest valued option forgone, which is the handbag only, but not including the music album.

c) (i) The opportunity cost would not change as it only affects the value of the concert itself but not the highest-valued option forgone, i.e. the value of handbag is unchanged.


(ii) The opportunity cost would increase as the value of the handbag, which is the highest-valued option forgone, increases as it has become more fashionable.

7. Although Miss Lee is good at typing, her opportunity cost of doing the typing himself is the income of being a lawyer. It is much higher than the cost of employing a clerk to type for her, which is the salary paid for the clerk employed. Hence Miss Lee employs a clerk instead of doing the typing himself. 

Common mistakes

1. too short. You have to support your answer with reason.

e.g. 6 a)handbag.

2. just copying the question as the reason

e.g. the opportunity cost of buying the concert will increase if the handbag is used by a popstar in a show

3. going to far

e.g. Q6(c)ii, Will Mary’s cost of buying the concert ticket change……

Yes. If Mary knows the handbag was used by a pop star, she would choose to buy the handbag. This makes the opportunity cost changes to the concert ticket.

4. unclear

e.g. 7, if Miss Lee use the time of typing work to do other thing, ex services the calient, she can increase her salary.

5. incorrect usage of terms

e.g. 6 c)ii, the opportunity cost of the handbag increase

6. wrong concept

e.g. 6 a), (opportunity cost is) the cost of handbag

6 a), 2nd choice, handbag

6 b), it is because the opportunity cost of buying the concert ticket is ‘the money paid for the ticket’ plus ‘other option’

6 c)ii, yes, it will because the handbag may be considered as first choice with its higher quality

6 c)ii, yes. It is because the price of the handbag used by pop star will be more expensive than before
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